[((F15EE] FR26FERBEMEFDDH
IE Bk B PE BE B GE BOE

(FRl264E4H 1TH~FRR2743A31H )

(HAL - 1)
#t B = F B /il £2 E 1 5
1 —#%IE BREA EE18 R D 2B
1 ﬁﬁ%ﬁ®%

(BHEEEX)




pEd

A 35,000

EEEHE 18,063,874 18,278,907 A 215,033
LA E I RER A 243,891 A 620,609 376,718
2 REEIMBRDER
(1 A2 SIS
R SMNESET 0 0 0
(2fEE 5 ER
EYe )= da Al 0 0 0
S HRRE EHMERER 0 0 0
2 HA —fi% 1F REA EE IR ER A 243,891 A 620,609 376,718
— iz ERE A e TR 11,118,636 11,739,245 A 620,609
— AR IERE AR TR = 10,874,745 11,118,636 A 243,891
11 57 IE WREA ZE SR8 D 5B
SEHBI £ F
S FERRE 6,601,000 6,572,000 29,000
— R IE PREAEE N D IRE KR A 6,601,000 A 6,572,000 A 29,000
= HRYE T 1E IR EA EE 18 KR 0 0 0
EEERGERERS 0 0 0
EEIEREIRRS 0 0 0
M E KB EE HA R R = 10,874,745 11,118,636 A 243,891

_3_




